CSE332 Week 4 Section Worksheet

1. For the 2nd case of AVL delete (shown below), argue why X & U’s heights must both be h before the deletion.  Ex: if X had a height of h+1 instead of h to begin with, this wouldn’t be a case 2 deletion – we’d do a case 1 instead.  Consider for X=h-1, U=h-1, U=h+1.
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2. For the splay tree below, splay about 15.  Then, using the original splay tree – not the updated one – splay about 40.
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3.  Starting with an initially empty splay tree, perform the following operations in order:

a. Insert 2, 4, 6, 0 & 1

b. Insert 5

c. Splay about 0

d. Splay about 6

e. Splay about 2

f. Delete 5
